401responses
Summary See complete responses of Paper-I code Z

Question 1
Option 3 [35] Option 1 82 20%
— Dpticn 4 [B5] Option 2 101 25%
Option 3 35 9%
Option 4 68 17%

Option-2 [101]
Option 1 [B2]

Question 2
Option 3 [36] ———— Option 1 67 17%
Option 2 65 16%
— Option 4 [30] Option 3 56 14%
Option 4 30 ™%

Option 2 [65]—

Option 1 [67]



Question 3

Option 3 [24]

Option 2 [44]

Question 4

Option 3 [23]—

Option 2 [44]———

—Option 4 [98]

Option 1 [81]

T Oplion 4 [95]

Option 1 [62]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

81
44

96

62
44

95

20%
11%

6%
24%

15%
11%

6%
24%



Question 5

Option 4 [160]——

Option 1 [20]
{Opticn 2 [32]
Option & [19]
Question 6
Option 3 [167] — Option 4 [22]

Option 1 [17]

Option 2 [28]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

20
32

160

28
167
22

5%
8%
5%
40%

4%
7%
42%
5%



Question 7

Opticn 3 [69]

— Oplion 4 [11]

Option 1 [24]

Option 2 [135]

Question 8

Opticn 4 [136)———

‘men 1 [18]

Option 3 [as]———— A Option 2 [44]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

24
135
69

44
35
136

6%
34%
17%

3%

4%
11%
9%
34%



Question 9

Option 3 [22]

a

Option 2 [38]

Question 10

Option 3 [26]—

Option 2 [57]———

—Opticn 4 [93]

Cption 1 [82]

— Opficn 4.[91]

: .-‘:—Elp':-c-n 1 [51]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

82
39

93

51
57

91

20%
10%

5%
23%

13%
14%

6%
23%



Question 11

Option 2 [44]

e —— Option 3 [15]

——Oiption 4 [24]

Option 1 [150]

Question 12

Opticn 3 [50]

Option 2 [62] — Opticn 4 [13]

Option 1 [74]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

150
44

24

79
62
50

37%
11%
4%
6%

20%
15%
12%

3%



Question 13

Option 3 [75]——
— Opticn 4 [38]

—QOphon 1 [31]

Option 2 [59]

Question 14

Option 4 [153]—

Opticn 1 [18]

:"—Dpunn 2117]

L Option 3 [40]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

31
59
75

153

8%
15%
19%

9%

5%
4%
10%
38%



Question 15

Option

Option

Question 16

Option

3 [47]

2 [20]—

2[Ba]—

— Dpticn 4 [66]

Option 1 [93]

— Opiion 3 [64]

— Opticn 4 [21]

I ——Option 1 [48]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

93

a7
66

46
88
64

23%
5%
12%

16%

11%
22%
16%

5%



Question 17

Option 1 [146]

Question 18

Option 1 [158]

Cption 2 [28]
— Oplion 3 [20]

— Oplion 4 [18]

Cption 2 [31]
Option 3 [15]

— Oiption 4 [14]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

146
28
20

159

36%
7%
5%
4%

40%
8%
4%
3%



Question 19

Opticn 3 [27]

— Qption 4 [8]

Option 2 [156]— Option 1 [18]
Question 20
Option 3 [143] ——
—Oiption 4 [14]

Opficn 1 [31]

——(pticn 2 [20]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

18
156
27
8

31
20
143

4%
39%
7%

2%

8%
5%
36%
3%



Question 21

Option 3 [28]

Option 2 [20]

Question 22

Option 4 123} ——

Option 3 [24] ———
Option 2 [19]

— Option 4 [95]

Dption 1 [85]

—— Dption 1 [44]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

44

24
123

16%
5%
7%

24%

11%
5%
6%

31%



Question 23

DOption 3 [167) — Option 4 [19]
Option 1 [17]

Option 2 [24]

Question 24
Option 3 [34]
— Opticn 4 [44]
Option 2 [8] Option 1 [42]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

24
167

42
68

44

4%
6%
42%
5%

10%
17%

9%
11%



Question 25

Option & [28]

Opticn 2 [40]

Question 26

Option 3 [84] ——

Option 2 [41]—

—Opficn 4 [78]

Opticn 1 [49]

— Option 4 [32]

Option 1 [70]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

49
40

78

70
41
54

12%
10%

7%
19%

17%
10%
13%

8%



Question 27

———————Option 4 [101]

Option 3 [42] Opticn 1 [28]
Option 2 [42]
Question 28
— Option 4 [98]
Option 3 [26]—

Option 1 [53]
Option 2 [42]———

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

28
42
42
101

53
42

98

7%
10%
10%
25%

13%
10%

6%
24%



Question 29

Option 3 [177]
— Opticn 4 [12]
Option 1 [13]

Option 2 [26]

Question 30

Option 3 [16]
—{pticn 4 [17]

Option 2 [180] Option’1 [13]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

26
177

3%
6%
44%
3%

3%
45%
4%
4%



Question 31

Option 3 [58]

Opiion-2 [21]

— Dption 4 [21]

Option 1 [123]

Question 32

Option 4 [59]

Option 3 [69] —

. F— Opticn 1 [29]
\:_f

Option 2 [§1]————

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

123
21
58
21

61
69
59

31%
5%
14%

5%

7%
15%
17%
15%



Question 33

Option 3 [34]

~— Ophon 4 [20]

Option 2 [57]

{Opticn 1 [50]

Question 34

Option 2 [21]——————.
r

e ——— Opiion 3 [28]

—{pticn 4 [15]

Option 1 [131]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

131
21
28

12%
14%
8%
5%

33%
5%
7%
4%



Question 35

Option 3 [28]
— Opticn 4 [48]
Cption 2 [76]
Option 1 [61]
Question 36
Option 3 [60] ~— Option 4 [44]

Option 1 [33]

Option 2 [49]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

61
76

48

49
60
44

15%
19%

7%
12%

8%
12%
15%
11%



Question 37

Option- 3 [30]

Option 2 [97)]

Question 38

Option 3 [62] —————————

QOption 2 [33] —3

— Option 4 [40]

DOption 1 [28]

— Qption 4 [11]

Opticn 1 [58]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

6%
24%
7%
10%

14%
8%
15%
3%



Question 39

Option 3 [74]

Option-2 [81]

Question 40

Option & [34] ————

Option 2 [48] —

—Ophon 4 [17]

Option 1 [29]

— Oplion 4 [34]

Option 1 [43]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

81
74

%
20%
18%

4%

11%
12%
8%
8%



Question 41

—— Option 4 [37
Option 3 [104] —4 pian 4 [37]

Option 1 [28]

Option 2 [39]

Question 42

Option 3 [15]

— Dpticn 4 [42]

Option 2 [71]

Option 1 [49]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

26
39
104
37

49
71

42

6%
10%
26%

9%

12%
18%

4%
10%



Question 43

Option 3 [16]

Option-2 [34]

Question 44

Option 3 [25]—————

Option 2 [35]—

— Oiption 4 [43]

Dption 1 [85]

——{ption 4 [22]

Option 1 [34]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

34
35
25
22

16%
8%
4%

11%

8%
9%
6%
5%



Question 45

Option 2 [28]

Option 1 [92]

Question 46

Option 3 [40] ——

Option 2 [38]—

Opticn 3 [37]

— QOpficn 4.[7]

— Dption 4 [29]

Option 1 [41]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

41

23%
7%
9%
2%

10%
9%
10%
7%



Question 47

DOpticn 3 [132] —— Option 4 [33]

Option 1 [21]

Option 2 [42]

Question 48

Option 3 [11]

~— Cplicn 4 [44]

Option 1 [16]
Dpfion 2 [145]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

21
42
132
33

5%
10%
33%

8%

4%
36%
3%
11%



Question 49

Optiocn 3 [20]

~— Option 4 [7
Dption 2 [172} ke % 171

Cption 1 [25]

Question 50

— Option 4 [41]

Option 3 [B4] —

Option 1 [30]

e Option 2 [21]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

25 6%
172 43%
20 5%
7 2%
30 7%
21 5%
84 21%
41 10%



Question 51

Option 3 [165]
- —Option 4[12]

QOption 1 [25]

Option 2 [14]

Question 52

Cption 3 [§4]——— .

— Dption 4 [15]

DOption 2 [37] Option 1 [44]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

6%
3%
41%
3%

11%
9%
16%
4%



Question 53

—— Option 4 [67]

Option 3 (22—
é- b
A
”“’*‘%x

Option 2 [25]

Opticn 1 [77]
Question 54
Option 3 [78] —{ption 4 [35]

Opticn 1 [30]

Option 2 [34]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

19%
6%
5%

17%

7%
8%
19%
9%



Question 55

Option 3 [1 ?|—~

Option 2 [54]

Question 56

Option 2 [50] —

Option 2 [24] ———————

— Option 4 [79]

DOption 1 [41]

— Option 4 [63]

Cption 1 [31]

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

41
54

79

31

50
63

10%
13%
4%

20%

8%
7%
12%
16%



Question 57

DOption 3 [51]

~—— Opticn 4 [26]

. Option 1 [34]
Option 2 [48]

Question 58

Option 2 (41} ——
dat — Oplion 3 [34]

— Option 4-[11]

Option 1 [118}

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

48
51

119
41
34

8%
12%
13%

6%

30%
10%
8%
3%



Question 59

Option 3 [28] — w0

p — Option 4 [31]

]
B

Cption:< [64) Option 1 [44]

Question 60

Option 3 [51] — Option 4 [47]

Option 2 [28] % o
piion

Option 1
Option 2
Option 3
Option 4

Option 1
Option 2
Option 3
Option 4

44
64
28
51

56
38
51
a7

11%
16%

7%
13%

14%

9%
13%
12%



